

•

lest format - 1 hour test - Multiple choice & short omswer questions - No calculatur - Cloud book, closed notes Supervised Cearning Regression (Outsut EIR) Classification (output in afinite set) D n Hypothesio: Learning: I dentifying by bothers Cost function J Find - the hypothesis in one (on Jutation out that minimizes - the cost on Objective the training set. Identify ext function—that is "continous / differentiable" Key:

(Stochastic) Graduent Deauni
Start with an invitial of
Repeat for some number of
Terations
$\theta \leftarrow \theta - 2 \sqrt{3} (\theta)$
Linear Regression: (S) GD on least square
Perceptron: SGD on a particular loss for
Logistic: (S) GD on a particular lost
Softmax: (S) GD on another coest for.
La Alternate Solution: Solve Normal egens
Generalized Linear Models
$-\frac{1}{p}(y x;\theta) \sim Exponential family$ $+(y n) = b(y) e^{n'}T(y) - a(n)$
- Compute $E(T(y))$ - Finding that maximizes the likelihood of the training Set.
- Finding that maximizes the
Ukelihood of Mr Training Set.

$$\theta_{j} \leftarrow \theta_{j} - \lambda \stackrel{\text{S}}{\leq} (h_{\theta}(x^{(i)}) - y^{(i)}) x_{j}^{(i)}$$

Decision Trops

N W SY

Cono: Overfitting data

(b)-Neorest Neighbors

Les k neighbors of test data in training set.

 $h_{\theta}(x) = \begin{cases} -1 & \theta^{T} x \leq T \\ +1 & \theta^{T} x > T \end{cases}$ $J(\theta) = \frac{1}{h} \sum_{i=1}^{n} \frac{1}{h} \left[h_{\theta}(n^{(i)}) \neq y^{(i)} \right]$

 $b(y, \eta) = b(y) e^{\eta^T T(y) - a(\eta)}$

$$p(y; \lambda) = \frac{\lambda}{y!} e^{-\lambda}$$
Observation: λ is some for λ .

Term $\frac{\lambda}{y!} - \frac{\lambda}{y!} = \frac{\lambda}{y!}$

$$\frac{\lambda}{y!} = \frac{\lambda}{y!} = \frac{\lambda}{y!} = \frac{\lambda}{y!}$$

$$\frac{\lambda}{y!} = \frac{\lambda}{y!} = \frac{\lambda}{y!} = \frac{\lambda}{y!}$$

$$\frac{\lambda}{y!} = \frac{\lambda}{y!} = \frac{\lambda}{y!} = \frac{\lambda}{y!}$$

$$\frac{\lambda}{y!} = \frac{\lambda}{y!} = \frac{\lambda}{y!}$$

$$\Rightarrow (y; \phi) = \begin{cases} \phi & y=1 \\ 1-\phi & y=0 \end{cases}$$

$$\Rightarrow (y; \phi) = \phi^{y} (1-\phi)^{1-y}$$